EARAROBREBRT —5 XN—ZXBISH—F

2024548138 () 105138

W C3—-13 C3 UYS%— (s | mEmm - | g o0
[AXE%) 1 &:600,00H ~ 23#%&:210,000F  337%:120,000H  43#&:90,000H . 5 3&:60,000
RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= s 8 | LI 1:24.9 6-4-3-3 | 39.2| - 2 510 | BILHEE (B0)
FLSHXIO— 5.0 5 o |E8EF
RFNRRING B:FLSFF—R J\BZ7—L4
» 3 2 -2-2- - =IE— (&
UAYR— 1H— i 4 ﬁf)fﬁx 1.(235).6 2-2-2-2 | 40.0 1 (4_63 :E:%I%[E (750
RZANOVIUI—Y B:U—RIRPVR HBIT7—L
— o — t 4 | ERFE 1:26.3 1-1-1-1 [ 40.9| - 3 M4 | PEED (G
F—-EF=— i 54.0 ©) +3) Eéi; TFVAR. ZFATI (
RiVEWDF— BNUDYRFZ— 5
~ ) AT\ — N — o6 | ER=ER 1:26.8 3-3-4-5 |41.1| — 4 | 45 |HMEEX &H)
FITATN=N 56.0 2172 (-9 |FHBF
RIYZRI—ZZRI— BEIVRN—N— HASARI W b
517 | AX—KrTU=R 6 @;n‘g%ﬁﬂ 1(:26.)9 7-7-7-4 |40.3| — | 5 | 54 ﬁgﬁi (&)
. 1/2 B2 A
R:O—RHFO7 BRAI—hF—Y4 Y )| S
el7l 7| O—rUSA7TL # 5 ;!grgﬁﬁ% 1(:26.3) 4-5-5-6 |40.8| — | 6 | 485 ﬁﬁ(ﬁ)?iﬂjé (EE)M:“ N
5 JE o = Jav
R:N—EVIv— B:IVITUvILA Q) 747'»(/77—A
718l10lE2—=UF« w7 %Eﬁ 1:(27).3 8-8-8-8 |39.7| — 8 462 %E%é%ﬁu)
= . 2 _ i
RTAIAI b= BIPAF Ly hS5T QU FroAC
glglo|warvoo5v9— 8| S 1:27.4 9-9-9-9 |39.4| — | 9 | 53 %Eg')lét*;ﬁﬂz (‘%‘%I\u)t g
. e - 7= >3z
RFUPLRIVE §:=0IPA @e) D | giebagiy
911 |LF7v—0 o6 g%ﬂ%ﬁu (1:29.9) 5-6-6-7 | 43.6| — 7 | 473 Eﬂ(g)ﬁﬁjﬁ (Eg)ﬁm 5
. 911 - 7— PEP
REALZIF—R B IA—YA TS y SR gy
7 k0| [t - - - = - | 2 | == @
#| 5|5 | NYTA—F 56.0 ) KB
RIBYIT—H— AV IDFEHT ®) | s
@ 11— —BERIEI
13—7F— 3.4,6,7,1,2,8,10,9
20—F— 3,4,6,2,7,1,8,10,9
BEIES /S 3,4,2,6,7,1,8,10,9
40—7F— 3,4,2,8,6,7,1,10,9
0 ILRE
BB 2 5004 JA R 2-4 1609 AR 2-4 3004 3ER 2-3-4 4204
B B 2 130 2=3) 410/ o 18 2-4 2904 3Es 2-4-3 3,420
4 1009 3-4 230 oS- 1 2-4 1,020
3 130M9

ABIC OV TRUTEREERRODDZE. THRIIZEL.




